olJ
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Nfo
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=x24+4x+4

@ (x+2)?

=x2-6x+9

@ (x-3)2

=x2-2x-1

® (x-1)2

x? 4 dxy + 4y?

@ (x+2y)?
® (x-5y)?

x2 = 10xy + 25y?
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oo

T &4 g2 A2

O x2-x-6=(x-3)(x+2)

@ ¥ -4=x+2)(x-2)

@ F-x?-2x=x(x+1)(x-2)
@ 18x3 —2x = 2x(3x—1) (3x + 1)

@ 3x2+6x+3:(3x+1) (x—|—2)
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oo

D 4a? + 24ab + 9b> @ x%2-14x+49
2 1
® a2—§a+§ @ 64a® + 32ab + 4b?

® 4x% + 4xy + y?
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® x+y

@ x-2y



@ x2+2x+1

O x%*+3x

@ 2x2 + 3x

@ x2+3x+1

® 2x2+2x+1



6. 4a® -6ab E JFTEISH A7

@® 4da(a-b) @ 2ab(a-3) ® a(a-b)

@ 2a(2a - 3b) ® 4a>(1 - 6b)



7. 942-16b2=-1209|1 3a—-4b=4 L4 Y, 3¢+ 4b 2] Zt-& FL5HH?

@ 2 @ 3 ® -2 @ -3 ® -5



tol 4(a + b)
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1 2
x+1y) — a4 by 4 ey? Ao, A g b ol o

G
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@ 30 ® 35 @ 40 ® 45

O 25
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9. (x-4)(x+4)2+[ h=xt-256014[  [tef ek

O -4 @ 4 ® 8 @ 12 ® 16



DO (x+3)2=x*>+9
IR 1
@ (x-3) —#-gr+7

@ Bx+1)2-2(x+1)(x= 3)=7x2+10x+7
1 1 1

@ (a+5) (a-5)=a+5

® (3x+5)(2x-7) = 6x2 + 31x— 35



11.

o] 71017} 2091 AN A 7z A= o] Zol2
A= 87 ARG 2] Wo )

@ 4x* +7Tx+12

@ 4x® +Tx+7
® 4x% + 14x + 12 @ 242 + Tx + 12

® 2x% 4+ 14x+ 12

=

7V 7Y

=

3, 4



12. (xv+y-5)(x—y-5)8 Arerd 7P 488 A

@ {(x+y) - 5H(x-y) -5} @ {x+(-5Hx-(+5))
® {(x=5) +yH(x=5) -y} @ {x+(y-5H(x-y) -5}

® {(x+y) +5H(x—y) + 5}



13.

4x% +Axy+9y* = (Bx+Cy)? & 1, o]
o] ¢t shd?

O 14 @ 15 ® 16



14.

x?+b5x+a=(x+b)? X a-b 2 32?7
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(a—b)(a+Db)
(=b—-a)(b+a)

—_— N~ =/



16. 6x2 +5x—a=(2x+b)3x+7) 7t BEZ W, a - b & F27

® -24 @ -18 ® -10 @ 18 ® 24



17.

ohah) 2.0 - xy- 4y ©] -2y B A%
QA4 (T A L A

®2x—3y ®2x—y

@2x+3y @2x+5y

2 714 o), e % o] o

@ 2x+y



18. AAZFE moFo] o] Yo7t 1642 — 24a+9 & uf, 3F H o] Zo]=9

@D 3a+5 @ 4a-3 ® da+3

@ 3a-3 ® 2a+5



19. (a+b)(a+b-3)+2E A5EMHH (a+b-m)(a+b-n) & o,
m—+n ] gF27?

@ 2 @ 3 @ 6 @ 11 ® 16



20. x?-2xy-1+y*2 QA5ESlSHH?

O (x-y+1)(x-y-1) @ (x+y+1)(x+y-1)
® (x-y+1(x+y-1) @ x-y-D(x+y-1)

@ (x+y+1)(x-y-1)



